Lessen 25
Math 70 Chapter 11 Quadratics

711 Solving Quadratic Equations by Completing the Square
11.2  Solving Quadratic Equations by the Quadratic Formula
11.3 Identifying the type and number of solutuons usmg the Discriminant
114  Applications of Quadratic Equations |
11.5 Solving Equations that are Quadratic in Form (or “Reducible to Quadratic”)

We will finish chapter 11 when we graph parabolas of all types in chapter 13, including the following:
11.6  Graphing Quadratic Functlons R

11.7  Graphing Quadratic Functlons, Vertex Formula, Maximum or Minimum Value

11.8 Applications of Quadratic Functions ‘

Objectives: :

1) Use the square root property to solve quadratic equations where all the variables are within an
expression. B -

2) Solve quadratic equations by completing the square, then using the square root property.

3) Check solutions by looking at graphs on GC; ‘

—4) Check solutions by evaluating the function on the GC.
Warm-ups
Simplify:
y 2 -3 “2) 12-87 3) 10-20v/—-288

10 V100 16 16

Important: “Solve” means find all valéues of the variable which make the equation true. When using the
square root property, we must remember the * , because without it we are missing a solution.

4) Solve by factoring, then by the square root |;;:)roperty:x2 -81=0

Solve by the square root property.
5 2x*-24=0

6) (2x-5) =-16

7) 3p*-6p=4
a. Solve by CTS & square root property
b. Identify the number and type of solutnons using the previous work.
c. Check solutions by evaluating. |
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